Introduction 
In most if not all languages, counting starts with the numeral 1. I will assume that 1 is the basic numeral and that the remaining counting numerals are based on this premise. This assumption is not meant to cover a theory of numerals based on philosopher and those who follow this. These works are integral to theories of mathematics not to be confused with counting numerals that are related. 
I will assume initially that if something exists, it is a predicate, which takes at least one argument. First suppose that an argument exists: [footnoteRef:0] [0:  Predicates are indicated by an initial capital letter; lexical stems in full caps. Arguments do not contain caps.] 

EXIST (x)
The symbol here ‘x’ represents an argument of any kind. Example (1) is either true or false. If (1) is false, then nothing exists because ‘x’ represents any kind of argument.  True is another primary predicate because it can be defined in terms of Exist and its argument alo
TRUE (x)
 A paradox could arise. Suppose that nothing exists. Suppose (1) is false:
Not (True (Predicate (x)))  [or]
False (Predicate (x))
‘False’ is a reduction of NOT (TRUE (x)). I do not consider FALSE to be a prime. The negative operator takes one argument, which is a predicate:
Not (x), x is a predicate
or
Not (predicate)
 If nothing exists, I would not be here writing my thoughts on this topic such as (1). Example (1) could not exist. If nothing exists, there nothing, no universe, no thoughts, ideas, dreams and so forth. Ergo, I assume that (1) is true.
If (1) is true, we can write it as follows:
True (Exist (x))
Consequently I assume that at least that there are at least three predicates: True, Not and Exist.  
The structure of a predicate must contain an argument is in (2), (3) and (4). Suppose that Exist, for example, had no argument. It would be illogical. Something has to exist for Exist to have meaning. The reasoning holds for the other two predicates and all others.[footnoteRef:1] An argument of a predicate has two distinct forms: one is an object. An object cannot take a predicate. A predicate does take another predicate as its argument as in (2), (3) and (4). Objects can be concrete or abstract; for example: cat, ball, tree, water; and idea, dream, word, truth. Assuming this to be true, then these examples exist by virtue of the predicate [± EXIST]: [1:  The argument(s) of some predicates may be hidden. Consider the sentence ‘it is raining’. ‘It’ is an expletive. It does not refer to rain. The verb rain incorporates a predicate and its argument, which is rain in this case. The predicate is associated with some verbs such as fall, occur, happen and so forth. In Russian the predicate is the Russian verb ID, which means to go. ] 

Exist (cat).
Of course, it may be the case that the object does not exist:
NOT (EXIST (unicorn)).
As I mentioned elsewhere, EXIST may be expressed in binary terms – an alternate notation of (8):
[± EXIST] (UNICORN)).
The most fundamental predicate then is [± EXIST], related to but not to be confused with the lexical verb EXIST in English. This predicate determines that its argument exists. The argument may be any object that is deemed to exist:
[- EXIST] (UNICORN)).
(10) simply means that unicorns do not exist. 
Space
Space cannot be defined of terms of Exist, True, Not. It is basic though I am not yet certain that is a prime, but it is hard to see why it wouldn’t be one. Space is an object:
EXIST (Space)
A dot in Geometry is the simplest object in Space; a dot cannot be defined:
[bookmark: OLE_LINK2]EXIST (POINT)
Although a dot is not a concrete item, it is the foundation of concrete items. Although I covered counting yet, a line is a succession of dots. 
Change: Goal, Theme and Source
Things do change. Change cannot be defined in terms of [± EXIST] and NOT alone. Change must be a prime. Change includes three arguments: a theme, a source and a goal. First I will assume (boldly) that the arguments of the above assumed predicates are themes. For example the argument of Exist can be written:
EXIST (theme)
A theme is an object; whether it includes a predicate is debatable. I see no real objection to it. I could think of an infinite number of objects, but this universe would be boring in that nothings is happening.
I propose now a very fundamental predicate: CHANGE. CHANGE is a rather interesting predicate. Initially, it takes an object, a theme:
CHANGE (theme)
An example of CHANGE are activity verbs: 
John is walking around in the park.
Mary is out riding her bicycle.
John is the theme; his location is changing. 
I consider the theme to be on the first level of arguments. There is a second level which includes source and goal. This Based on DeArmond Hedberg. In the following sentence:
The wolverine trotted from the pine tree to the camp.
Counting
I will introduce the basic counting numeral “1”. 1 cannot be defined in terms of the predicate EXIST and the theta role theme:
EXIST (1)
The counting numeral is not to be confused with the arithmetic number 1. The counting numeral is positive only and starts with “1”. They correspond with natural numbers. Arithmetic or mathematic numbers go way beyond the counting numeral. It includes negatives, ration and irrational numbers, amongst other properties. Counting numerals are predicates that take an argument. The initial discussion on counting numerals will put the argument aside to return to it below. Natural numbers are objects that do not take an argument. 
The biggest problem is zero. I am assuming that no culture starts counting with zero. We count 1, 2, 3, 4 and so forth, not 0, 1, 2, 3, 4 and so forth. ‘0’ was a late addition to numbers – Gautama Siddha introduced it in 1AD. It subsequently spread to most if not to all numerical systems. 
It is not correct to assume the next numeral, 2, as basic. It and all other natural counting numerals are defined in terms of |. In standard arithmetic, the number 2 is seen as the product of | (=1):
1 + 1 = 2. 
Crucial is to determine the logic of (6).
First, we need to introduce another basic predicate, which must be assumed to be true. I will call this predicate Add. Add takes three arguments:
ADD (source, theme, goal).
1 is a source to which the theme is added. The goal is the combination of the source 1 and the theme 1, ‘1’’1’:
ADD (source ‘1’, theme ‘1’, goal ‘1’ ‘1’).
Similar to other predicates, ADD is a binary function. (18) is replaced with (20):
[+ADD] (source, theme, goal).
[+ADD] (source ‘1’, theme ‘1’, goal ‘1’ ‘1’).

[bookmark: OLE_LINK1]Actually (9) is derived from the prime CHANGE. Given the predicate CHANGE, which implies no change, CHANGE. is a prime. It takes three arguments: y, which we call a theme; x, which we will call a source; and z, which we will call a goal. CHANGE. includes so many situations that it is difficult to include them. We cite the relevant situation below:
The predicate Define-Symbol has a few members. One is DEFINE (source, goal): The written numeral one is formally defined as:
DEFINE-SYMBOL (source ‘1’, goal 1).
The numeral 2 is defined:
DEFINE-SYMBOL (source ‘1’ ‘1’, goal 2).
Another predicate is DEFINE-LEX. This defines each numeral as a lexical item in a given language or dialect. It takes two arguments as well:
DEFINE-LEX (source ‘1’ ‘1’, goal ONE)
Technically, should be some like ‘English ONE’ to include the language in which it occurs:
DEFINE-LEX (source ‘1’ ‘1’, goal (English ONE))
In standard German it would be:
DEFINE-LEX (source ‘1’ ‘1’, goal (German EINS))
The numeral 2 is lexically defined as:
DEFINE-LEX (source ‘1’ ‘1’, goal (English TWO))

The numeral 3 can be represented in one of two ways:
[+ADD] (source ‘1’’1’, theme ‘1’, goal ‘1’ ‘1’ ‘1’). Or
[+ADD] (source ‘1’, theme ‘1’ ‘2’, goal ‘1’ ‘1’ ‘1’).
DEFINE-SYMBOL (source ‘1’ ’1’ ’1’, goal 3).
DEFINE-LEX (source ‘1’ ‘1’ ‘1’, goal (English THREE))
That is, 3 can be defined as add theme 1 and the source 2 (2 + 1) or add theme 2 and source 1. There is a redundancy here. Perhaps the formal definition should have a constant theme 1 and a source increased by 1 to produce the next highest numeral following (16). 
In a final note in this section EXIST and DEFINE are each a state predicating (Vendler 1947, Partee 2007). It is unary. ADD is trinary, but it is a state. That is there is no process is going on. This should be distinguished from the achievement verb ADD which has several different meanings, related through a common argument:
John went to the board and added two to one.
Mary added the new marble to her collection. 
In this section I have introduced the unary predicate EXIST, the Trinary predicate ADD, and the theta roles theme, source and goal. These will necessary in section 2.	ORDER
Here I will introduce ORDER. ORDER is a primitive. It cannot be defined in terms of EXIST, ADD, NOT or any of the define predicates. I propose that ORDER takes two arguments:
ORDER (x, y)
Terms such as before and after are defined under ORDER. The arguments ‘x’ and ‘y’ occur in an order. The context is introduced below.
First consider ADD. 

Lexicon
A formal representation of (5) in English would be:
EXIST (theme: BOOK)
EXIST and BOOK are each an English lexical item. BOOK is a set of all books and it is a member of the set theme. I will not formally introduce the term set here; see Partee et al (19--).
EXIST (BOOK)
In Standard English (8) may be present in at least two ways.
A book exists (or)
There is a book
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